GENERAL PRINCIPLES OF CURRENT AND DEFERRED TAX SET OUT

« AASB requires companies account for current and future tax consequences of:
» Current transaction and events
» recovery and settlement of asset/ liabilities

* income tax expensive comprised of:

« current tax liabilities
* movement in deferred tax liabilities and assets
* movement in deferred tax liabilities/ assets included in other compressive income

* Example: revaluation of land

 Drland $100 000
* Cr revaluation reserve $70 000
« Cr deferred tax liability $30 000
« Disclosure requirements to disclose tax related to OCI entries
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Payment of income tax:
« PAYG system in quaterly instalment
« companies lodge quarterly business activity statement and pay tax calculated as:

Company income tax determined by taxable profit
Differences between account v taxable profits due to:
Accrual items; valuation adjustment; tax incentive
tax treatment of times follows the cash flow
accounting treatment is based on accounting standards and principle of accrual accounting
results in assets/ liabilities having carrying amounts for accounting purposes that differ to

» Tax= Instalment income x instalment rate (tax department supply annually)

CALCULATING CURRENT TAX
Reconciliation approach:

Reconciling items
1. Revenues or gains that are not equal to assessable incomes
2. Expenses or losses that are not equal to deductions
3. Assessable incomes that are not equal to revenues or gains

4. Deductions that are not equal to expenses or losses

Adjustment to profit before tax
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Current tax liability represents last quarterly payment and adjustments to reflect annual tax
income may differ from sum of quarterly returns




